Make Arrays

1. Match the picture to the correct number sentence.

A A 2+2=4
- 'L 2+42+2+2=8
c of of of of 2+2+2=6
% =f of of of

2. Complete the number sentences to match the statements.

There are 2 rows.

There are 3 columns.

There are 2 rows.

There are 4 rows.
‘ +
There are 2 columns.

There are 4 columns.

¢

3. Make an array using these marbles.

¢ @
® e
> M




Make Arrays

4. Match the picture to the correct number sentence.

A. & & & & &

10+10=20

Jddd 2+2+2+2=8

" of of of of
00000000606

5+5+5=15
ln 0 660606060606
5. Complete the number sentences to match the statements.
There are 2 rows. -
+ + + + =
There are 5 columns.
There are 10 rows.
— w [+ =
There are 3 columns.
There are 5 rows.
There are 4 columns. - + + + =

¢

6. Make 2 different arrays using these marbles.
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7. Match the picture to the correct number sentence.
©6606060606060606

AGOAGAGAG.N 5+5+5+5+5=25
QOGN

p. o of of of of of of 3+3+3+3+3+3+3+3+3+3=30
of of of of of of of

C. ¢ & ¢ ¢ ¢
A 2R IR IR IS 2+2+2+2+2+2+2=14
TN A A A
L BB S # ;
8. Complete the number sentences to match the statements.

There are 5 rows.

There are 6 columns.

There are 10 rows.
- + + +
There are 4 columns.

There are 3 rows.

There are 5 columns.
IS
e

9. Make 2 different arrays using these marbles.




]
(1]
o

Developin
1.A2+2+2=46,B:2+2=4,C:2+2+2+2=8
2.2+2+2=46,4+4=8,2+2+2+2=8

3.000
00

Expected
4 A:5+5+5=15B:2+2+2+2=8,C:10+10=20
52+2+2+2+2=10,10+10+10=30,5+5+5+5=20
¢ 90009 ond 00
00000 L &4
o0

Greater Depth
7Z.A:3+3+3+3+3+3+3+3+3+3=10,B:2+2+2+2+2+2+2=14,

C:5+5+5+5+5=25

8.5+5+5+5+5+5=30,10+10+10+10=40,3+3+3+3+3=5
9. Anytwoofthese: @@ 000000 000 0000
00 000000 900 9000
o0 eoe 9000
o0 000
o0



